JL_

Vertical Division Name:
Solve each problem. Answers
1) 2) 3)
1.
80720 501600 80833
2,
3.
4.
5.
4) 5) 6)
6.
50600 800|555 50(200
7.
8.
9.
10.
7) 8) 9)
11.
60|580 30900 401801
12.
10) 11) 12)
101470 50(368 90284
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 1 11-121 8 | 0
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Vertica Division Name: Answer Key
Solve each problem. Answers
1) 9 2) 12 3) 10r33 9
80[720 50[600 80[833 "
0 0 0 2 12
72 60 83
0 50 80 s 10r33
720 100 33 . 12
720 100 0
0 0 33 s 6175
4) 12 5) 6175 6) 4 A 4
50(600 80555 50[200 |
0 0 0 . 9rd0
60 55 20
100 555 200 . 20r1
100 480 200
0 75 0 0 47
7 9140 8 30 9 20r1 7118
60(580 30[900 40[801
0 0 0 1. 3rl4d
58 90 80
0 90 80
580 00 01
540 0 0
40 0 1
10) 47 11) 7118 12) 3r14
10[470 50(368 90[284
0 0 0
47 36 28
40 0 0
70 368 284
70 350 270
0 18 14
[ Math ]www.CommonCoreSheets.com 1 1111102 %82 %3 Bl Ol B
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Vertical Division Name:
Solve each problem. Answers
12 4 6 r75
10 r33 12 9
20rl 9 r40 30
1) 2) 3)
80|720 501600 80833
4) 5) 6)
501600 80555 501200
7) 8) 9)
60|580 30900 401801
M odified 1-9 |89|78[67[56]44[33[22]11] 0 |
[ Math ] www.Co 1

mmonCoreSheets.com
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Vertical Division Name:
Solve each problem. Answers
1) 2) 3)
1.
901360 301299 10|280
2,
3.
4.
5.
4) 5) 6)
6.
20884 60|765 301808
7.
8.
9.
10.
7) 8) 9)
11.
10910 70(700 60(180
12.
10) 11) 12)
30(182 70|1293 20520
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 2 11-121 8 | 0
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Vertica Division Name: Answer Key
Solve each problem. Answers
1) 4 2) 9r29 3) 28 4
90360 30[299 10[280 "
0 0 0 2. 9r29
36 29 28
0 0 20 3 28
360 299 80 . a4
360 270 80
0 29 0 s 12r45
4) 44r4 5) 12145 6) 26128 . 26128
20(884 60765 30[808
0 0 0 7 91
88 76 80
80 60 60 8 10
84 165 208 . 3
80 120 180
_4 T5 78 10. 6r2
7 91 8 10 9 3 W 4ri3
10910 70[700 60[180
0 0 0 12, 26
91 70 18
90 70 0
10 00 180
10 0 180
0 0 0
10) 612 11) 4113 12) 26
30[182 70[293 20520
0 0 0
18 29 52
0 0 40
182 293 120
180 280 120
2 13 )
[ Math ] www.CommonCoreSheets.com 2 1111102 %82 %3 Bl Ol B
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Vertical Division Name:
Solve each problem. Answers
3 26 r28 12 r45
91 28 9r29 1.
4 44 r4 10
1) 2) 3 g
901360 30299 10280 3.
4,
5.
6.
7.
8.
4) 5) 6)
20884 60(765 30808 .
7) 8) 9)
10910 70|700 60(180
M odified 1-9 |89|78[67[56]44[33[22]11] 0 |
[ Math ] www.CommonCoreSheets.com 2
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Vertical Division

Name:

1)

4)

7)

10)

Solve each problem. Answers
2) 3)
1.
50650 201800 901242
2.
3.
4,
5.
5) 6)
6.
201812 60|1333 801850
7.
8.
9.
10.
8) 9)
11.
80[640 30[952 50[400
12.
11) 12)
50(180 101150 80640
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 11-121 8 | 0
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Vertica Division Name: Answer Key
Solve each problem. Answers
1) 13 2) 40 3) 2162 ) 13
50(650 20[800 90[242 |
0 0 0 ) 40
65 80 24
50 80 0 3. 2162
150 00 242 . 40r12
150 0 180
0 0 62 5 5r33
4) 40r12 5) 5r33 6) 10r50 . 10150
20[812 60(333 80(850 |
0 0 9 7 8
81 33 85
80 0 80 8. 31r22
12 333 50 . 3
0 300 0
12 33 50 0. 3r30
7 8 8 31r22 2 8 " 15
80[640 30[952 50[400 |
0 0 0 12, 8
64 95 40
0 90 0
640 52 400
640 30 400
0 22 0
10) 3r30 19 15 12) 8
50[180 10[150 80[640
0 0 0
18 15 64
0 10 0
180 50 640
150 50 640
30 0 0

[ Math ] www.CommonCoreSheets.com

1-10
11-12

92

75|67 [58[50( 4233|2517 |




C:h Vertical Division

Name:
Solve each problem. Answers
10 r50 8 13
2162 8 40 r12 1
5r33 31 r22 40
1) 2) 3) z
50650 20(800 901242 3
4,
5.
6.
7.
8.
4) 5) 6)
201812 60333 80850 .
7) 8) 9
801640 30|952 501400
M odified 1-9 [89[78]67[56[44[33]22[11] 0 |
[ Math ] www.CommonCoreSheets.com 3
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Vertical Division

Name:

1)

4)

7)

10)

Solve each problem. Answers
2) 3)
1.
801640 30(390 401403
2,
3.
4.
5.
5) 6)
6.
901326 40679 801415
7.
8.
9.
10.
8) 9)
11.
701881 40516 10(790
12.
11) 12)
80(160 201420 701490
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 4 11-121 8 | 0
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Vertica Division Name: Answer Key
Solve each problem. Answers
1) 8 2) 13 3) 10r3 3
80[640 30[390 20[403 "
0 0 0 ) 13
64 39 40
0 30 40 s 1013
640 90 03
640 90 0 4 3150
0 0 3 5 16 r39
4) 3156 5) 16139 6) 5r15 A 5115
90[326 40679 80[415 |
0 0 0 7. 12 r41
32 67 41
0 40 0 8. 12 r36
326 279 415
270 240 400 > &
56 39 15 " 2
7 12r41 8) 12r36 9 79 " 21
70[881 40516 10[790 |
0 0 0 12 /
88 51 79
70 40 70
181 116 90
140 80 90
41 36 0
10) 5 11) 21 12) v
80[160 20[420 70[490
0 0 0
16 42 49
0 40 0
160 20 490
160 20 490
) 0 )
[ Math ] www.CommonCoreSheets.com 4 1111102 %82 %3 Bl Ol B




C:h Vertical Division

Name:
Solve each problem. Answers
5ri15 3 r56 13
16 r39 12 r36 8 1
79 10 r3 12 r41
1) 2) 3 g
80640 301390 401403 3
4.
5.
6.
7.
8.
4) 5) 6)
901|326 401679 80415 9.
7) 8) 9
701881 40516 10(790
M odified 1-9 [89]78]67]56]44[33[22[11] 0 |
[ Math ] www.CommonCoreSheets.com 4
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Vertical Division

Name:

1)

4)

7)

10)

Solve each problem. Answers
2) 3)
1.
900|317 301870 900|507
2,
3.
4.
5.
5) 6)
6.
70|1379 201820 50250
7.
8.
9.
10.
8) 9)
11.
40520 40815 40697
12.
11) 12)
801320 20(384 401746
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 11-121 8 | 0
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Vertical Division

Name:

Answer Key

Solve each problem. Answers
1) 3r47 2) 29 3) 5157 ) 3747
90[317 30[870 90[507 |
0 0 0 ) 29
31 87 50
0 50 0 s 5157
317 270 °07 . 5r29
270 270 450
47 0 57 5 41
4) 5129 5) 41 6) 5 3 5
70[379 20(820 50[250
0 0 0 7 13
37 82 25
0 80 0 s  20r15
379 20 250 o 17117
350 20 250
29 0 0 10 4
7 13 8) 20r15 9) 17r17 4 1914
40[520 40815 40(697
0 0 0 » 18126
52 81 69
40 80 40
120 15 297
120 0 280
0 15 17
10) 4 11) 1914 12) 18126
80[320 20[384 40746
0 0 0
32 38 74
0 20 40
320 184 346
320 180 320
) 4 26
[ Math ] www.CommonCoreSheets.com 5 1111102 %32 %3 el




C:h Vertical Division

Name:
Solve each problem. Answers
S5 57 20 r15 5
29 41 3 r47 1
5r29 13 17 r17
1) 2) 3) z
90317 30|870 901507 3
4,
5.
6.
7.
8.
4) 5) 6)
701379 201820 50250 9.
7) 8) 9
401520 401815 401697
M odified 1-9 [89[78]67[56[44[33]22[11] 0 |
[ Math ] www.CommonCoreSheets.com 5
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Vertical Division Name:
Solve each problem. Answers
1) 2) 3)
1.
60|1872 601609 701910
2,
3.
4.
5.
4) 5) 6)
6.
301973 301840 201206
7.
8.
9.
10.
7) 8) 9)
11.
901|257 30(750 201880
12.
10) 11) 12)
901810 30284 30(780
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 6 11-121 8 | 0
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Vertica Division Name: Answer Key
Solve each problem. Answers
1) 14r32 2) 10r9 3) 13 . 14132
60(872 60(609 70[910
0 0 0 2. 10r9
87 60 91
60 60 70 3 13
272 09 210 . 32013
240 0 210
32 9 0 ; 28
4 32r13 5) 28 6) 10r6 A 1016
30[973 30[840 20[206 |
0 0 0 . 2r77
97 84 20
90 60 20 N
73 240 06
60 240 0 ’ “
13 0 6 0 9
7 2177 8 25 9 44 4 9rl4
90[257 30[750 20(880 |
0 0 0 12 26
25 75 88
0 60 80
257 150 80
180 150 80
77 0 0
10) 9 19 9rl4 12) 26
90810 30[284 30[780
0 0 0
81 28 78
0 0 60
810 284 180
810 270 180
0 14 0
[ Math ] www.CommonCoreSheets.com 6 1111102 %82 %3 Bl Ol B




C:h Vertical Division

Name:
Solve each problem. Answers
25 10 r6 13
14 r32 44 10 r9 1
28 2177 32 rl13
1) 2) 3) z
60872 60609 701910 3
4,
5.
6.
7.
8.
4) 5) 6)
301973 30|840 201206 9.
7) 8) 9
901257 30|750 20|1880
M odified 1-9 [89[78]67[56[44[33]22[11] 0 |
[ Math ] www.CommonCoreSheets.com 6
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Vertical Division

Name:

1)

4)

7)

10)

Solve each problem. Answers
2) 3)
1.
701630 50400 40568
2.
3.
4,
5.
5) 6)
6.
901630 70|1379 80560
7.
8.
9.
10.
8) 9)
11.
20[410 70[507 20[220
12.
11) 12)
80(784 501598 60360
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 11-121 8 | 0
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Vertica Division Name: Answer Key
Solve each problem. Answers
1) 9 2) 8 3) 14r8 9
70[630 50[400 20568 "
0 0 0 ) 8
63 40 56
0 0 40 s 14r8
630 400 168 ) .
630 400 160
0 0 8 5 5r29
4) 7 5) 5r29 6) 7 A v
90630 70[379 80[560
0 0 0 7. 20r10
63 37 56
0 0 0 e  7ri17
630 379 560 . 1
630 350 560
0 29 0 0. 9r64
7 20r10 8 7117 2 11 4 11148
20[410 70[507 20[220 |
0 0 0 12, 6
41 50 22
40 0 20
10 507 20
0 490 20
10 17 0
10) 9r64 11) 11r48 12) 6
80784 50[598 60[360
0 0 0
78 59 36
0 50 0
784 98 360
720 50 360
64 48 )
[ Math ] www.CommonCoreSheets.com 7 1111102 %82 %3 Bl Ol B




C:h Vertical Division

Name:
Solve each problem. Answers
7rl7 8 5r29
9 20 r10 7 1
11 7 14 r8
2,
1) 2) 3)
701630 501400 40568 3
4.
5.
6.
7.
8.
4) 5) 6)
901630 70|1379 80|560 9.
7) 8) 9)
201410 70|1507 201220

M odified
[ M ath ] www.CommonCoreSheets.com

1-9 [89|78|67]56|44[33[22]11] 0 |
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Vertical Division

Name:

1)

4)

7)

10)

Solve each problem. Answers
2) 3)
1.
601840 201460 201335
2.
3.
4,
5.
5) 6)
6.
50(138 601433 301870
7.
8.
9.
10.
8) 9)
11.
30[720 10[520 70[321
12.
11) 12)
301371 60(752 10|580
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 8 11-121 8 | 0
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Vertica Division Name: Answer Key
Solve each problem. Answers
1) 14 2) 23 3) 16115 14
60[840 20[460 20[335 "
0 0 0 ’ 23
84 46 33
60 40 20 3. 16115
240 60 135 . 2r38
240 60 120
0 0 15 s 7r13
4) 2138 5) 7113 6) 29 A 29
50[138 60[433 30[870
0 0 0 7 24
13 43 87
0 0 60 8 52
138 433 270 . arm
100 420 270
38 13 0 o, 12r11
7 24 8 52 9 4r41 12132
30[720 10[520 70[321 N :
0 0 0 12, 58
72 52 32
60 50 0
120 20 321
120 20 280
0 0 41
10) 12r11 11) 12r32 12) 58
30[371 60752 10580
0 0 0
37 75 58
30 60 50
71 152 80
60 120 80
11 32 0
[ Math ] www.CommonCoreSheets.com 8 1111102 282 %3 Bl Ol B




C:h Vertical Division

Name:
Solve each problem. Answers
4r41 2 r38 24
14 52 16 r15 1
23 7rl3 29
1) 2) 3 g
60840 201460 20|335 3
4.
5.
6.
7.
8.
4) 5) 6)
50|138 60433 30|870 .
7) 8) 9)
30|720 10(520 701321
M odified 1-9 [89]78]67]56]44[33[22[11] 0 |
[ Math ] www.CommonCoreSheets.com 8
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Vertical Division

Name:

1)

4)

7)

10)

Solve each problem. Answers
2) 3)
1.
701614 50600 201420
2.
3.
4,
5.
5) 6)
6.
101396 201620 701630
7.
8.
9.
10.
8) 9)
11.
90[435 10211 50(324
12.
11) 12)
20(740 901693 70(770
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 9 11-121 8 | 0
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Vertica Division Name: Answer Key
Solve each problem. Answers
1) 8154 2) 12 3) 21 ) 854
70614 50[600 20[420 |
0 0 0 ) 12
61 60 42
0 50 40 3 21
614 100 20 . 3916
560 100 20
54 0 0 5, 31
4) 3916 5) 31 6) 9 A 9
10[396 20620 70[630 |
0 0 0 . 4r75
39 62 63
30 60 0 8. 21rl
96 20 630 . 6r24
90 20 630
6 0 0 0 37
7 4175 8 21r1 2 624 W 7163
90[435 10211 50(324 |
0 0 0 12 11
43 21 32
0 20 0
435 11 324
360 10 300
75 1 24
10) 37 19 7163 12) 11
20[740 90[693 70770
0 0 0
74 69 77
60 0 70
140 693 70
140 630 70
) 63 0

[ Math ] www.CommonCoreSheets.com

1-10
11-12| 8
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75|67 [58[50( 4233|2517 |




C:h Vertical Division

Name:
Solve each problem. Answers
12 31 6r24
39 16 21r1 4 r75 1
8 r54 21 9
1) 2) 3 g
70614 50600 201420 3
4.
5.
6.
7.
8.
4) 5) 6)
10(396 201620 701630 9.
7) 8) 9
90435 10211 501324
M odified 1-9 [89]78]67]56]44[33[22[11] 0 |
[ Math ] www.CommonCoreSheets.com 9




C:h Vertical Division Name:

Solve each problem.

1) 2) 3)

%0[843 80[695 40[320

4) 5) 6)

70[910 80[553 20[920

7 8) 9)

30[08 90[450 90[676

10) 11) 12)

10[220 20240 70[202

Answers

10.

11.

12.

1-10
[ M ath ] www.CommonCoreSheets.com 10 11-12

92

75|67 [58[50( 4233|2517 |
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Vertica Division Name: Answer Key
Solve each problem. Answers
1) 9r33 2) 8155 3) 8 ) 9r33
90[843 80(695 40[320 |
0 0 0 .,  8r55
84 69 32
0 0 0 o 8
843 695 320 . 13
810 640 320
E E —O 5. 6r73
4) 13 5) 6173 6) 46 A 16
70[910 80[553 20[920
0 0 0 . 3r8
91 55 92
70 0 80 8 5
210 553 120 . 7146
210 480 120
0 73 0 0 22
7 3r8 8 5 9 7146 " 12
30[98 90450 90[676 |
0 0 0 1. 2162
98 45 67
90 0 0
8 450 676
450 630
0 46
10) 22 11) 12 12) 2162
10220 20[240 70[202
0 0 0
22 24 20
20 20 0
20 40 202
20 40 140
0 0 62
[ Math ] www.CommonCoreSheets.com 10 1111102 %82 %3 Bl Ol B
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Vertical Division

Solve each problem. Answers
6r73 7 r46 46
8 3r8 5
9r33 8 r55 13
1) 2) 3)
901|843 80695 401320
4) 5) 6)
701910 80553 201920
7) 8) 9)
30[08 90450 90[676
M odified 1-9 [89]78]67]56]44[33[22[11] 0 |
[ Math ] www.CommonCoreSheets.com 10
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